
Comments

1) Simple vs. physical pendulums
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m is a point mass

Linear

Cannot use: cannot replace I by m
situated at distance h from the point of
suspension. Different parts of the body
will have different displacements with
respect to the equilibrium position



2) Velocity at different points along a spring with mass M

     Spring with mass M, unstretched length l
           s, dm
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Velocity of any intermediate point on the spring (at distance s from the fixed end)
is s/l of end-of-the-spring velocity


